MAT 192, Quiz #7, Fall 2016 Name K
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Instructions: Show all work. Answers without work required to obtain the solution will not receive full
credit. Some questions may contain multiple parts: be sure to answerr all of them. Give exact answers

unless specifically asked to estimate.

1. Find an equation of the tangent line to the curve x = 1 ++/t|y = et’ at (2,e).

= ‘-*e_ ,\@t'.:l

. . 2eet 20 2¢
ZINE 7 B 2 O L

_{uusfl.yﬁ;ﬂ, . y-es= 4&()\“2)

2. Sketch the graphr = 3 cos 66.
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Find the area of ane loop of 7 = 3 cos 66.
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Identify the type of conic.
a. 3x2+8y=0
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b. x2+y2+2x—4y+4=0
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y? —16x% =16
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d. x24+9y2=9
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